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Unit 1 Lesson 7
Do Now: Determine whether each statement is zrue or false
D2+1=1+2 b)2~1=1-2
O Y e l=-| false
AIM: Properties

1. Suzy draws the following picture to represent the sum 3 +4. Ben looks at this picture from the opposite 31de of
the table and says “You drew4+3”. Explain why Ben might interpret the picture this way.

Ben read the
Preture Fom

RALOUT = LEFT
What property was illustrated above?__aomenUTedive  Pr opel +\; of  Addivion

a+b=Db+a K

Does this property work for any other operation? CQN\N ofakive Pfope.r 'l&j QF MU\ \ P\t cakion

O O = Qb

2. Suzy adds more to her picture and says, “the picture now represents (3+4)+2 . Ben interprets this picture as
3+(4+2) . Is he correct? Explain.

es, ordec does not
nottec with eddition

What property was illustrated above? AS 30 C&* e PrO{)e/( ’}}J 0? A & AL‘“M

a+(b+c)= (a+b) tC

|

Does this property work for any other operation? ASSOQ ativt PrO\?ﬁ( ’t;-i o M UH'IPIl cation ‘

O o b)Y = (ob) -




For #3-6, determine which property makes the following two expressions equivalent. You can just label them with

a C for Commutative Property and an A for Associative Property.

3. 4. 5
1,13 13 1 1 13

22t | (B)x—
9 9+22()xﬁ NG

C

x.+(a+3)

A

6.
5(3x)

A

(x+a)+3

(5><3)C>

7. Given the expression (a+b)+c write an equivalent expression using the commutative property.

C + (0%0)

8. Given the expression (x+y)+z write an equivalent expression using the associative property.

x +(y+2)

9. Which property of real numbers is illustrated by the
equation 52 + (274 36) = (52 +27) + 362
1}  commutative property
@ associative praperty
3)  distributive property
43 identity property of addition

For #10-13, identify the property being illustrated using the following abbreviations

A = Associate property
C = Commutative Property
D = Distributive

CLT = Combine Like Terms
10.

2Bx—4)-Tx= 9-59-59 Slotement
6x+(=8)+(~7x) = _Distabulive

11.

23 +5x+Ty—x—-y—-27
1) 23-27+5x—x+Ty—y

Given Statement

C oyen o Fatiu€

6x+(—7x)+(-8)=

Comwn uax vt

CLT

2) @3-2N+Gr-n+y-y) Nsence W?
3) —4 +4x + 6y LT

—x—8
12. 13. State the properties being used in the mathematical proof of
3(r+2)—4x |Given Statement the algebraic equivalency of (ab)* and a’b®.

1) i3x + 6 — 4x ), {Sﬁ_f Coutiut (ah)? = (ab)(ab) Given Statement

2) {3x - (O DN ,

3)lx+6 LA N
—a@p (Do oty O
= (aa)(bb) P L[ 07 vk
= a’b? CAT
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Which property is illustrated by the equation
ax+aye=aly+y)?
1} associative
\§ commutative
C»’ distributive
4y  identity

1.
The equation 3(4x) = (4y)3 illustrates which
sroperty?
1/ commutative
3‘} associative
3)  distributive
4)  multiplicative inverse

16.
Which property is illustrated by the equation
bb(F+x) =6+ (x+4)?
1) associative properly of addition
2} associative property of multiplication
3)  distributive property
conumutative propecty of addition

17.

Tori compirtes the value of §+93 in her head by
thinking 8(100~ 5} = 8 x 10— 8 x 5. Which

munber property is ghe using?

1Y associalive
distribntive
1 commuiative

4y closure

18.
Which equation is an example of the use of the
associative property of addition?
1}y x+7F=TF4x

2} 3x+¥r=3x+3y
} (x4 3=xi{va3)
4y 3alr+py={x+y)+3

19.
What property of addition states that the order

in which two real ngmbers are added does not
affect the sum?

Cornm it arive

O







